lici :

4 4 . : OR := ORIGIN
flz,y)=2"+y" +04.sin(7-2)+0.3-sin(4-7-y)—1
zmin:=—1.2 zmaz:=1.2 yman = —1.2 ymaz:=1.2
T
coords := [mmqw quw] [nx ny] = { 100 100] grids:= {mc ny]
Tmin  ymin

H :=implicitplot2d ( f,coords, grids)

H2 := | “Get unique points”

k<— OR

for ¢ € OR..last <H(O>)
if mod (¢,3)=0

Rt — H-
I k—k+1

return R3

nn:= || “Nearest neighbor sorting”

ryd «— H2
xyd(OR, +2) —0
for . €e OR+1..last (HQ(OR)>

final «— submatrix (acyd ,OR,i—1,0R,0OR+ 2)
H « submatrix (myd ,1,last <H2<OR’>> ,OR,OR + 2>

for j € OR..last (H2O%) —i

2 2
H <—\/(HV — final, ) +(H_ — final )
j,OR+2 j,O0R i—1,0R j,OR+1 i—-1,0R+1

H « csort (H7 OR + 2)
zyd « stack (final , H)

xyd « stack (:cyd y myd@>

return zyd
Area := || “Trapezoidal rule”
z — nn°®
oy nn(OR +1)
A0
for i € OR..last (z) — 1
yi +1 = yi
A—A4—m——. (m —x_)
2 i+1 k3
return A
A
1.25
Area =3.7094247
iy ‘ 125 -1 —05 —05 2 0.25 R ‘ 1.25 .




Add a B-Spline

2 = nnloR) yi= nnOR+1)
t:=0..last (x) = 1
n:=3 N gip, =500
Fitx vs t

bz := Spline2 (t , T, n)

T
splinel := Binterp (range R bar:)

range :=min (t) ,min (t) 4F
Ndiv

Seubica (a) :=interp (cspline <Tange A splinel(OR‘)) ,range splinele) s a)

Fityvst
by := Spline2 (t Y, n)

spline2 := Binterp (range i by)

Seubicy (a) :=interp (csplinc <range X spline2(OR)) ,range, splineZmR) s a)

tt:=0,0.1..468 = [0]

x2:= fcubicx (tt)

Area := || “Trapezoidal rule”
T — x2

Y—y2

A0

y2:= fcubicy (tt)

for < € OR .. last (ac)—l

.(m. _m)
i+ 1 2

last (¢t) =4.68.10°

005 Area=3.7089814

max (t) —min (t)

..max (t) =

Y. 1Y,
A—A4+——
2
return A
nnV “1.25
Y2
I

—0.75 -0.5 —0.25

—0.25+

—0.51

—0.75+

)



